


o
ol
b~ |©

IT

— | O

+

3
—x

2

3x—y=—-br+4y+4

—

el

X
o

B!



re

1 ) =
2]upA] A1 §I+2y: 2z4+1)+5y =z +4y A HE (p, ¢) 2t & W, pq
o] gt& Fafolat,



o}
=

I

)

3r+2y=>5

ol
8
ol
K

A3z+2[ A | =5

ey =[]

S

st =

©of o

©=

o=
=[]

or =

©°ll <!

=
=

@ 2x+8

@ —x—4

D zx—4

® —2x+8

@ 2z —8



ey —
S

Hi o
u S I
U B
o= 7
o 2
= T L
B PO
< o
o ST
,UI{



O
=

W7t =5,y=b0d ™, a—2b 9 3k

5]

_94

2

SN e

_|_

SRS

ax — 5y =10

{

3734

SR

sholat,

?_



0.3z 4+ 02y =12
]Fﬂjl:ﬂ-?%]/\]

o - x y
Z_Z__9
2 3

Ol HE (a, b)=t & i, ab?] 2127



6 +5(y+1)=2
A4

o 7

{22y —z) —y} —3=10

Qr=-2y=—4
®az=1y=-3

® =2 y=-1

@ xz=2y=-3

@ =2 y=-2






